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| Choose the correct Answer: 5x1=5
S then the value of Ais
27 39" en
a)42 b) 36 c) 25 d) 48
| of i'?-
Z. The reciprocal o 71 is
45 29 74 74
* 7 b1 % AT
, 3 Oneuntlothenghlof -7 is
ay+1 b) -8 c) -7 d) -6
4 A square shaped park has 40m as its perimeter, then the length of its side i3 ;
a) 20m b) 10m_ - ¢)Bm d) 5m -
5 Which of the following does not have a ne of symmetry?
a)Vv b)Q c)1i dyw

Fill in the blanks 5x1=5

The number which has its own reciprocal is
's less than every positive integer but greater than every negaliua In!egm \\:-‘x_\

In a rectangle the opposite sides are in length.
is an integer which is neither positive nor negalive.
0 shape has infinite number of symmetry lines.
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5x1=5

Il Say true or false

11 The reciprocal of a improper fraction is always a proper fraction.

12 -10 and 10 are al equal distance from 1.

13 The cpposite number of -100 is +100. .

14 The length of the boundary of any closed shape is called perimeter.

15 An equilateral tnangle has three lines of symmetry. .
v Match the following:- g Sxi=5 -
16 Areaof a square - No line of symmetry

17 Area of a rectangle - one line of symmetry :

18 Area of atriangle - length x breadth

15 lsosceles triangle - side x side

20 Parafiogram - 4 x base x height
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V' Answer
any five of the foliowi, (2)
21 Flnﬁ [he sy 0[‘."‘ 3 PR © H“._.
s R pr ke NG 9
b s
22 Muttipty, - -Exj.
5
23 Write all the integers between -3 ang 3
- Put appropriate signs as >, < or = i the box.
)-8 3.7 i)-999 [ .100p
I:I) 1113 -111 iv) 0 -200
Find the area of a rectangle of length 12m and breadth 10m
ind the perimeter of g scalence tnangle with sides 7m, 8m and 10m
Draw the line of Symmetry for a square and rectangl

lowing:

28. An oil tin contains 3% litres of il of which 2% litres of oil is used. How much oil is
left over?
29. Arod of len

-15, 12,3 25,
31. Mark the numbers 4, -3 6,-1and -5 it s I‘
32. Find the Perimeter o number line.

fthe given figure, -

i

2Cm

Vil Answer any one of the following:

35. Complete the table using the following hints,
C, : First number of the Natural numbers,
: Opposite of -5 is
"4 units right to -7
C, : The number neither positive no
C, : 10kg below normal weight.
C, :Again of Rs.100
- Find the alphabets in the box which have
1) No line of symmetry,
i} - One line of symmetry,
i) Two lines of symmetry,
iv) Many lines of symmetry.
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5x3=15
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